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BEMOREH (B L 7= 100 FRE LA ) (B& L7=% 100 KRB C)
—FETOE=E 17,300 M 4,000 M
[64, 800 F1] [25, 300 ]
3 ~b /= 24, 600 [ EHBEFH TR 8,000 [ EFHBEFH TR
[al [139, 100 4] L7=%8 [59, 200 M] L7=%8
* 6~10 = 35, 900 4 EHBEFH TR 13,900 [ EFHBEFH TR
=2 [216, 700 4] L7=%8 [94, 800 H] L7=%8
E| 11~30F 47,300 [ EHBEFH TR 20, 100 M EHFEEFH TR
[418, 500 F4] L7=%8 [186, 100 9] L7=%8
31~50 = 79, 800 [ EHBEFH TR 37, 600 M EFHBEFH TR
[741, 900 F4] L7=%8 [333, 600 1] L7=%8
51~100 = 130, 200 [ EHBEFH TR 64, 700 M EHFEEFH TR
[1, 268, 200 MH] L7=%8 [573, 600 3] L7=%8
101~200 &= 208, 200 [ THFEFHTR 106, 400 THFEEFHTR
[2, 338, 100 H] L7=%8 [1, 058, 900 H] L7=%8
201~300 = 253, 600 [ THFEEFH TR 130, 800 9 THFEEFHTR
[3, 336, 400 M] L7=%8 (1,509, 400 H] L7=%8
301 B~ 269, 900 [ EFHEBEEFPH TR 139, 600 [ EFHBEEFH TR
[4, 085, 000 H] L7=%8 [1, 845, 600 ] L7=%8




